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4/11~4/15
R EH— B2 2= EHU | EEA | EEEY | BEOE | £X
Z—8 3 -4 3 1 iR |48 L [-0.50 0.38) 10
B — 1 4 1 -3 {#3R |42 £ (0.75 0.56 6
BH— 2 2 -4 4 =R |48 L |-1.00 -0.75 15
HE— 3 2 1 3% |48 L [1.50 1.13 2
BB 2 -4 2 1 =R |48 L |-0.75 056 13
BHE— -1 -3 -3 =3k |48 L |-1.75 131 17
i 14— 2 -6 -5 -2 EaR |41 L |-3.75 281 25
= -2 -7 4 -1 =R |42 L |-3.50 263 24
HREE— 2 -1 1 2 =R |48 L |1.00 0.75 4
EE— 2 4 3 2 =3k |88 L |-2.75 206 22
R 3 =] 3 2 =3 |48 L |0.25 0.19 7
BT -1 3 2 -2 {Far |48 L [-2.00 -1.50] 19
28" ) 2 A 2 fEaR |42 L [-0.50 -0.38 10
EE_ -3 5 5 3 {FiR |48 L |-4.00 3.000 27
BE_ -4 2 [E3R |4 L |-0.50 -0.38 10
Ea_ 2 2 3 -1 Bk |42k |-2.00 -1.50] 19
f 78— 2 o2 -4 1 fEar |48 L |-0.75 056 13
BE_ -4 -6 4 -4 {F3R |48 L [-4.50 338 28
fkEE 1 1 3 ' [FaRk & (1.67 1.25 1
FEZ -1 <2 4 =2k (&8 L [-1.00 -0.75 15
E==5 2 I 2 ) 2% (42 |0.25 0.19 7
g2E= =3 |4 E 29
Bi= 1 2 -3 -3 =R |42 L |-0.75 0.56] 29
BE= -4 3 -4 -4 {F5R &L [-3.75 281 25
ERE= -1 1 3| 1 =R |48 F 9
B8 = 1 1 2 1 {Faf |88 [1.25 1.00 3
IkEE= i 1 fFak & E (1.00 0.75 4
E=5 -3 3 3 3 =R |43 L |-3.00 225 23
B== -3 i5 3 -2 fEar |88 L |-175 -1.31 17
ER= 1 2 5 fEaR |42 |-2.00 -1.500 19
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